
a'4 jfl6sf gu/kflnsfsf] 
/fh:j s/ b:t'/ ;DaGwL ljj/0f 

 
l;= 

 
cf=j= cf=j= 

s/ b:t'/ ljj/)f 2073.074  sf] 2074.075  sf] 
g+=  

nflu nflu 
  

    

1 dfnkf]t  0 

 Go'gtd 5 s&\&f ;Ddsf] 25 25 

 5 s¶f b]vL 19 s¶f;Dd k|lt s¶f 10 10 

 20 s¶f b]vL dfly ;Dd k|lt s¶f 20 20 

 10 ljufxf eGbf dfly 30 30 

2 #/s/ 0 0 

s s ju{-/fhdfu{df kg]{#/x?_ 0 0 

 l^g, ^fon vk*f 100 100 

 df^f]k^fg 150 150 

 kSsL Ps tNnf #/ 200 200 

 kSsL b'O{tNnf #/ 400 400 

 kSsL tLg tNnf #/ 700 700 

 kSsL rf/ tNnf #/ 800 800 

 kSsL kfr tNnf #/ 1000 1000 

v v au{-/fhdfu{eGbf leq kg]{;Dk')f{#/x?_ 0 0 

 km'/ #/ 50 50 

 l^g, ^fon, vk*f 100 100 

 df^f]k^fg 100 100 

 kSsL Ps tNnf #/ 150 150 

 kSsL b'O{tNnf #/ 300 300 

 kSsL ltg tNnf #/ 600 600 

 kSsL rf/ tNnf #/ 700 700 

 kSsL kfr tNnf #/ 800 800 

3 ;fwf/)f l;kmfl/; 100 100 

 rfl/qLs l;kmfl/z 300 300 

4 gful/stf l;kmfl/; 0 0 

 a+zhsf]l;kmfl/; 100 100 

 a}aflxs c+uLs[t 300 300 

5 #/ jf^f]l;kmfl/; 0 0 

 af^f]gePsf] 300 300 

 leqL jf^f]df kg]{ 500 500 

 leqL lkr jf^f]df kg]{ 1000 1000 

 /fhdfu{df kg]{ 1500 1500 
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 >]itf sfod  500  500 

6 rf/ lsNnf k|dfl)ft l;kmfl/;   0   0 

 /fhdfu{df kg]{hUufx?   600   600 

 leq d'Vo jf^f]  500  500 

 leqL zfvf sRrL tyf u|fe]n jf^f]df  400  400 

 v]ltofUo hldgsf]   200   200 

7 gftf k|dfl)ft   300   300 

 gftf k|dfl)ft cu|]lhdf  500  500 

 rfnrng -rl/lqs_ l;kmfl/z  500  500 

8 #/ sfod l;kmfl/z  500  500 

9 kmf]^f]^fF; l;kmfl/z   200   200 

10 #/ d'nofª\sg   0   0 

 kSsL #/ k|lt sf]&f -?=2 nfv_ 0.10 k|lt;t 0.10 k|lt;t 

11 crn ;DklQm d'Nofªsg   0   0 

 Go'gtd kf r nfv;Dd  500  500 

 5 nfv eGbf dfly 25 nfv;Dd k|lt Ps nfv ;Dd   100   100 

 25 nfv eGbf dfyL ePsf]v)*df 25 nfv ;Ddsf]? 2500 
2500++0=05 2500++0=05 

 

/ ;f]eGbf dfyLsf]c+ssf]xsdf dfq 0=05 k|lt;t sf]b/n]yk   
k|lt;t 

 
k|lt;t 

 

nfUg] 
  

       

12 cfo k|dfl)ft       

 Go'gtd kfr nfv ;Dd Ps d'i&  500  500 

 5nfv eGbf dfyL 25 nfv;Ddk|lt Ps nfv;Dd   100   100 

 25 nfv eGbf dfyL ePsf]v)*df 25 nfv ;Ddsf]? 2500 
2500++++0=05 2500++++0=05 

 

/ ;f]eGbf dfyLsf] c+ssf]xsdf dfq 0=05 k|lt;t sf]b/n]yk   
k|lt;t 

 
k|lt;t 

 

nfUg] 
  

       

13 gful/stf eGg]egL ;Rrfpg]l;kmfl/;   0   0 

 z}lIfs k|df)f sf]nfuL  500  500 

 k]G;g nufot  1000  1000 

 ljB'tl;kmfl/;   200   200 

14 gfd ;f/L l;kmfl/; b:t'/-bf=vf_ 

500++  k|ltsf 10 500++k|ltsf 10 

 
sf b/n] 

 
sf b/n] 

    

15 ;efsIf xn ef*f k|lt Ps lbg  1000  1000 

16 Joj;fo tyf k;n btf{l;kmfl/z  1500  1500 

17 l*n/l;k b:t'/  5000  5000 

18 ;fd'bflos jg jflifs ;]jf jfkt  15000  15000 

19 #/ axfn s/ 2 k|ltzt 2 k|ltzt 

20 sf& l;kmfl/;       

 l;;f}sf&sf]l;kmfl/; k|lt ?v  500  500 

 s'sf&sf]l;kmfl/; k|lt ?v   200   200 

21 k+lhs/)f #^gf btf{   50   100 
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 ;DjGw ljR%]b 300 300 

22 pBf]ux?   

s pTkfbg d'ns pBf]u   

 &'nf 5000 5000 

 def}nf 4000 4000 

 ;fgf 3000 3000 

v phf{d'ns pBf]u 0 0 

 &'nf 5000 5000 

 def}nf 4000 4000 

 ;fgf 3000 3000 

u s[ifL tyf jg hGo 0 0 

 &'nf 7000 7000 

 def}nf 6000 6000 

 ;fgf 5000 5000 

# vlgh pBf]u 0 0 

 &'nf 8000 8000 

 def}nf 7000 7000 

 ;fgf 6000 6000 

23 ko{^g pBf]u 0 0 

 ls/fgf, sk*F, km]G;L, nufotsf k;n btf{ 1000 1000 

 dlb/f, ef*F, 1500 1500 

 ;fgf]xf]^n 2000 2000 

 &'nf]xf]^n P)* nh 4000 4000 

 ;]jf d'ns pBf]u 4000 4000 

 lgdf{)f pBf]u 6000 6000 

24 ldgfxL l*xL hUufsf] l;kmfl;/ df l;kmfl/; jfkt ? 200 / k|tL 200+  k|ltw'/ ?5 0 200+  k|ltw'/ ?5 0 

 w'/ yk 50 ?k}of nfUg]   

25 P}nfgL hUufsf] xsef]u x:tfGq)f ePsf]df tf]lsPsf] d'Nosf] 3 % 3  k|lt;t 3  k|lt;t 

26 lghL ljBfno btf{l;kmfl/;   

 k|f=lj= 1000 1000 
    

 df=lj= 1500 1500 
    

 pRr df=lj= 2000 2000 
    

27 lghL ljBfno sIff yk l;kmfl/;   
    

 k|f=lj= 700 700 
    

 df=lj= 1000 1000 
    

 pRr df=lj= 1500 1500 
    

28 cGo ;fwf/)f l;kmfl/; 200 200 
    

 ;h{ldg b:t'/ 500 500 
    

 ;+# ;+:yf btf{l;kmfl/; 500 500 
    

 

 



aflif{s k]zf Joj;fo s/sf] b/ 
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!=!=! dlb/f k;n   

!=!=!=! /S;L, ljo/sf]l8:6Jo'6;{ 6500 6500 

!=!=!=@ /S;L, ljo/sf]yf]s k;n 2500 2500 

1=1=1=3 /S;L, ljo/sf]v'b|f ljqmL k;n 1500 1500 
    

1=1=2 ;'tL{hGo -w'd|kfg_ k;n   
    

1=1=2=1 r'/f]6, lj8L, ;'tL{hGo kbfy{sf]l8n/ k;n 3600 3600 
    

1=1=2=2 r'/f]6, lj8L, ;'tL{hGo kbfy{sf]yf]s k;n 1500 1500 
    

1=1=2=3 r'/f]6, lj8L , ;'tL{hGo kbfy{sf]v'b|f k;n 700 700 
    

1=1=3 xNsf k]o kbfy{k;n   
    

1=1=3=1 xNsf k]o kbfy{sf]l8n/ 2500 2500 
    

1=1=3=2 xNsf k]o kbfy{sf]v'b|f k;n 100 100 
    

1=1=4 ;'g rfFbL k;n >]0fL   
    

1=1=4=1 ;'g rfFbL k;n >]0fL s 3500 3500 
    

1=1=4=2 ;'g rfFbL k;n >]0fL v 3000 3000 
    

1=1=4=3 ;'g rfFbL k;fn >]0fL u 2500 2500 
    

1=1=5 cf}ifwL Joj;fo   
    

1=1=5=1 cf}ifwL ;'k/ l8:6Jo'6;{ 4000 4000 
    

1=1=5=2 cf}ifwL yf]s tyf l8:6Jo'6;{ 2000 2000 
    

1=1=5=4 cf}ifwL v'b|f k;n -8S6/ gePsf]_ 1000 1000 
    

1=1=5=1 cfo'j]{lbs cf}fwL k;n   
    

1=1=5=1=1 xj{n pTkfbg tyf cfo'j]{lbs cf}ifwL yf]s k;n 2000 2000 
    

1=1=5=1=2 xj{n pTkfbg tyf cfo'j]{lbs cf}ifwL v'b|f 1000 1000 
    

1=1=5=1=3 Pu|f]e]6 yf]s k;n 1500 1500 
    

1=1=5=1=4 Pu|f]e]6 v'b|f k;n 1000 1000 
    

1=1=6 :6]zg/L tyf k':ts k;n   
    

1=1=6=1 :6]zg/L tyf k':ts l8l:6Jo'6;{ 4000 4000 
    

1=1=6=2 :6]zg/L tyf k':ts yf]s 2500 2500 
    

1=1=6=3 :6]zg/L tyf k':ts v'b|f 1500 1500 
    

1=1=6=4 d'b0f ;fdfu|L vl/b ljqmL tyf sfkL pBf]u 3000 3000 
    

1=1=8 s:d]l6s k;n   
    

1=1=8=1 s:d]l6s yf]s k;n 2000 2000 
    

1=1=8=2 s:df]l6s v'b|f k;n >]0fL s 1000 1000 
    

1=1=8=3 s:df]l6s v'b|f k;n >]0fL v 800 800 
    

1=1=9 df]6/ kf6{tyf af]8L ljN8;{;fdfg ljqmL   
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1=1=9=1 df]6/ kf6{;fdfg ljqmL >]0fL s 2500 2500 
    

1=1=9=2 df]6/ kf6{;fdfg ljqmL >]0fL v 2000 2000 
    

1=1=9=3 af]8L ljN8;{;fdfg ljqmL >]0fL s 2500 2500 
    

1=1=9=4 af]8L ljN8;{;fdfg ljqmL >]0fL v 2000 2000 
    

1=1=10= n'ljq|s];g ;]S;g tkm{   
    

1=1=9=11 n'la|s];g yf]s k;n 2500 2500 
    

1=1=9=12 n'la|s]zg v'b|f k;n 1000 1000 
    

1=1=11 KnfO{tyf Unf; xfp;   
    

1=1=11=1 KnfO{tyf Unf; xfp; yf]s k;n 3000 3000 
    

1=1=11=2 KnfO{tyf Unf; xfp; v'b|f k;n 2000 2000 
    

1=1=12 sk8f tyf km]G;L kk;n   
    

1=1=12=1 sk8f, km]G;L tyf Jofu yf]s k;n 4000 4000 
    

1=1=12=2 sk8f, km]G;L tyf Jofu v'b|f k;n >]0fL s 1500 1500 
    

1=1=12=3 sk8f, km]G;L tyf Jofu v'b|f k;n >]0fL v 1000 1000 
    

1=1=13 wfuf]6f+s km:g/ yf]s k;n   
    

1=1=13=1 wfuf], 6f+s km:g/ k;n 1500 1500 
    

1=1=13=2 wfuf], 6f+s, km:g/ v'b|f k;n 1000 1000 
    

1=2=1 On]S6«f]lgs ljqmL k;n   
    

1=2=1=2 On]S6«f]lgs yf]s k;n 3000 3000 

1=2=1=3 On]S6«f]lgs v'b|f k;n >]0fL s 2500 2500 
    

1=2=1=4 On]S6«f]lgs v'b|f k;n >]0fL v 2000 2000 
    

1=2=1=5 /]l8of], 38L, SofNs'n]6/ dfq ljqmL k;n 1000 1000 
    

1=2=1=6 cl8of], lel8of]Sof;]6 ;kn 1000 1000 
    

1=2=2 ljB't ;fdfu|L k;n   
    

1=2=2=1 ljB't ;fdfu|L yf]s k;n 3000 3000 
    

1=2=2=2 ljB't ;fdfu|L v'b|f k;n 1500 1500 
    

1=2=3 xf8{jo/÷d]lzg/L÷k]G6÷;]g]6/L tyf dfa{n k;n 1000 1000 
    

1=2=3=1 yf]s k;n 4000 4000 
    

1=2=3=2 v'b|f k;n >]0ffL s 2500 2500 
    

1=2=3=3 v'b|f k;n >]0fL v 2000 2000 
    

1=2=3=4 v'b|f k;n >]0fL u 1000 1000 
    

1=2=4 k]6«f]lnod kbfy{   
    

1=2=4=1 k]6«f]lnod kbfy{# kDk jf ;f]eGbf dfly 5500 5500 
    

1=2=4=2 k]6«f]lnod kbfy{@ j6f kDk ePsf] 3500 3500 
    

1=2=4=3 k]6«f]lnod kbfy{! dfq kDk ePsf] 2500 2500 
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1=2=4=4 k]6«f]lnod kbfy{kDk gePsf]l8n/ 1000 1000 
    

1=2=4=5 Uof; l;ln08/ l8n/ ;j l8n/ 1500 1500 
    

1=2=5 :6Ln, cfNd'lgodsf]k;n   
    

1=2=5=1 :6Ln, cfNd'lgodsf]yf]s k;n 2500 2500 
    

1=2=5=2 :6Ln, cfNd'lgodsf]v'b|f k;n 1000 1000 
    

1=2=6 kmlg{z;{k;n   
    

1=2=6=1 km\nf]l/ª tyf kmlg{z;{yf]s k;n 2500 2500 
    

1=2=6=2 km\nf]l/ª tyf kmlg{z;{v'b|f k;n 1500 1500 
    

1=2=7 ;jf/L ;fwg Ph]G;L tyf yf]s ljqmL k;n   
    

1=2=7=1 a;,6«s, 6«SofS6/ lhk, sf/sf]l8n/ 13000 13000 
    

1=2=7=2 df]6/;fOsn l8n/ 10000 10000 
    

1=2=7=3 df]6/;fOsn cGo ;jf/L ;fwgsf]l8n/ -:jb]zL pTkfbg_ 3000 3000 
    

1=2=7=4 On]lS6«s ;fOsn l8n/ 2500 2500 
    

1=2=7=5 l/ slG8;g xfp; 2500 2500 
    

1=2=8 yf]s tyf Ph]G;L   
    

1=2=8=1 6fo/ l8n/ 3500 3500 
    

1=2=8=2 klDkË;]6, h]g]/]6/ l8n/ 3000 3000 
    

1=2=8=3 ljljw ljifosf ;fdfg ;Knfo;{tf Ph]G;Lx? 2500 2500 
    

1=3 b}lgs pkef]usf j:t'   
    

1=3=1 vfBfGg tyf ls/fgf k;n   
    

1=3=1=0 vfBfGg ;Knfo;{ 2000 2000 
    

1=3=1=1 uNnf yf]s k;n 1500 1500 
    

1=3=1=2 vfBfg, ls/fgf yf]s k;n 1500 1500 
    

1=3=1=3 vfBfg, ls/fgf v'b|f k;n 1000 1000 
    

1=3=1=4 leqL ;8sdf /x]sf ;fgf ls/fgf k;n 700 700 
    

1=3=1=5 cfn', Kofh, n;'g, cb'jf yf]s 500 500 
    

1=2=2 kmnkm'n k;n   
    

1=3=2=1 kmnkm'n yf]s k;n 2500 2500 
    

1=3=2=2 kmnkm'n v'b|f k;n 1200 1200 
    

1=3=3 ;fu;AhL k;n   
    

1=3=3=1 ;fu;AhL yf]s k;n 1500 1500 
    

1=3=3=2 ;fu;AhL v'b|f k;n 800 800 
    

1=3=4 ;'tLdfqsf]sk8f k;n   
    

1=3=4=1 ;'tL sk8f yf]s k;n 1200 1200 
    

1=3=4=2 ;'tL sk8f v'b|f k;n 1000 1000 
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2 ljz]if1 k/fdz{tyf cGo Joj;flos ;]jf   
    

2=1 lrlsT;s   
    

2=1=1 lghL ;]jf ;+rfng ug]{;S;N6]06 8fS6/ 2000 2000 
    

2=1=2 lghL ;]jf ;+rfng ug]{d]l8sn clkm;/ 1500 1500 
    

2=1=3 slj/fh 1500 1500 
    

2=3 sG;N6\ofG6 ;]jf   
    

2=3=1 OlGhlgol/ª k/fdz{;]jf 3500 3500 
    

2=4 sfg'g Joj;foL   
    

2=4=1 n kmd{tyf sfg'g k/fdz{;]jf 1500 1500 
    

2=5 n]vf k/LIf0f Joj;fo tkm{   
    

2=5=1 n]vf k/LIf0f -l;=P=_ 3500 3500 
    

2=5=2 n]vf k/LIf0f -/=n]=k=_ 2500 2500 
    

2=6 bGt lrlsT;f ;]jf   
    

2=6=1 8]G6n xf]d ;]jf 2000 2000 
    

2=6=2 bGt lrlsT;f ;]jf   
    

2=7 cg';Gwfgstf{tyf ;]jf k/fdz{bftf   
    

2=7=1 cg';Gwfgstf{ 2000 2000 
    

2=8 sDKo'6/ Pgfln:6 tyf k|f]u|d/ 2000 2000 
    

2=9 ljdf Ph]G6 2000 2000 
    

2=10 ;e]{o/ 2000 2000 
    

2=11 gf]6/L klAns cg'jfbs 1000 1000 
    

2=12 kz'lrlsT;s 1500 1500 
    

2=13 z]o/ bnfn 2500 2500 
    

2=14 9'jfgL sDkgL tyf 6«fG;kf]6{Joj;fo 2000 2000 
    

2=15 ;+:yfut k]G6/ 3500 3500 
    

3 lgdf{0f Joj;fo   
    

3=1=1 lgdf{0f Joj;foL 3000 3000 
    

3=1=3 ljb]zL lgdf{0f Joj;foL Pj+k/fdz{bftf 15000 15000 
    

3=1=2 ejg lgdf{0f Joj;fo   
    

3=1=2=1 ldSr/ tyf ;6l/Ë ;fdfg ePsff]nfO{ 5000 5000 
    

3=1=2=2 ;6l/Ë ;fdfg dfq ePsf] 25000 25000 
    

3=1=2=3 ejg lgdf{0f Joj;foL 2000 2000 
    

3=1=3 ;l6/Ë Joj;fo   
    

3=1=3=1 ldSr/ tyf ;6l/Ë ;fdfg ePsf] 2000 2000 
    

3=1=3=2 ;6l/Ë ;fdfgdfq ePsf] 1000 1000 
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3=1=3=3 jf6/ l8lnË 4000 4000 
    

4 pTkfbg d'ns pBf]u   
    

4=1=1 Knfli6s pBf]u   
    

4=1=1 Knfli6s pBf]u >]0fL s 3500 3500 
    

4=1=2 Knfli6s pBf]u >]0fL v 2500 2500 
    

4=1=2 rKkn pBf]u   
    

4=1=1 rKkn pBf]u >]0fL s 3500 3500 
    

4=1=2 rKkn pBf]u >]0fL v 2500 2500 
    

4=2 u|Ln pBf]u   
    

4=2=0 :6Ln, cfNd'lgod u|Ln pBf]u   
    

4=2=1 kmnfdsf]u|Ln pBf]u 1500 1500 
    

4=3 ;fa'g pBf]u   
    

4=3=1 ;fa'g pBf]u >]0fL s 3500 3500 
    

4=3=2 ;fa'g pBf]u >]0fL v 3000 3000 
    

4=4 h'Qf pBf]u   
    

4=4=1 h'Qf pBf]u tyf h'Qfsf]zf]?d 2000 2000 
    

4=4=2 h'Qfsf]zf]?k tyf k;n 1500 1500 
    

4=4=3 h'Qf dd{t ug]{ 500 500 
    

4=5 kz'kfng tyf kz'cfxf/ pBf]u   
    

4=5=1 kz'cfx/ pBf]u 2000 2000 
    

4=5=2 kz'cfxf/ ljqmL s]Gb| 1200 1200 
    

43=3 kz'k+5L kfng pBf]u 1000 1000 
    

4=7 3/]n's'l6/ pBf]u   
    

4=7=1 cu/ aQL pBf]u 1000 1000 
    

4=7=2 d}g aQL pBf]u 1000 1000 
    

4=7=3 l6sL pBf]u 700 700 
    

4=7=4 crf/ pBf]u 700 700 
    

4=7=5 cGo s'l6/ pBf]u 700 700 
    

4=8 sk8f tyf ufd]{G6 pBf]u   
    

4=8=1 sk8f pBf]u 4000 4000 
    

4=8=2 uf/d]G6 pBf]u 2000 2000 
    

4=8=3 Hofs]6 tyf Jofu pBf]u 1500 1500 
    

4=8=4 xf]lhof/L tyf wfuf]pBf]u 1000 1000 
    

4=8=5 l;/s 8;gf pBf]u÷k;n 1500 1500 
    

4=8=6 9fsf pBf]u >]0fL s 1700 1700 
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4=8=7 9fsf pBf]u >]0fL v 1200 1200 
    

4=9 5ftf, ;nfO{pBf]u   
    

4=9=1 ;nfO{pBf]u >]0fL s 3500 3500 
    

4=9=2 ;nfO{pBf]u >]0fL v 2500 2500 
    

4=9=3 5ftf pBf]u >]0fL s 2500 2500 
    

4=9=4 5ftf pBf]u >]0fL v 1800 1800 
    

4=10 k]o kbfy{pTkfbg pBf]u   
    

4=10=1 ldg/n jf6/ pBf]u 2500 2500 
    

4=10=2 lkpg]kfgL ;Knfo;{   
    

4=10=3 cfO; a/km pBf]u   
    

4=10=4 cfO;qmL pBf]u 1500 1500 
    

4=10=5 ;f]8f pBf]u 1200 1200 
    

4=11 efF8f pBf]u   
    

4=11=1 sf+;, tfdf, lkQn, ef8f pBf]u 2500 2500 
    

4=11=2 cfNd'lgod ef8f pBf]u 1800 1800 
    

4=11=3 Knfl:6s ef8f pBf]u   
    

4=11=4 l6gsf]af;s, afN6l, :6f]e 1200 1200 
    

4=12 s'6fgL , k]nfgL ldn   
    

4=12=1 kmnfj/ ldn 8000 8000 
    

4=12=2 ;]n/ ldn 1500 1500 
    

4=12=3 s'6fgL, k]nfgL ldn -xn/ ;d]t_   
    

4=12=4 lrp/f ldn 1000 1000 
    

4=12=5 d;nf pBf]u 1000 1000 
    

4=13 8]/L pBf]u   
    

4=13=1 8]/L pBf]u tyf ljqmL k;n 1500 1500 
    

4=13=2 8]/L ljqmL k;n 1000 1000 
    

4=14 pkef]Uo j:t'pTkfbg pBf]u   
    

4=14=1 s'lsh÷kfp/f]6L÷g'8N; pBf]u >]0fL s 2000 2000 
    

4=14=2 s'lsh÷kfp/f]6L÷g'8N; pBf]u >]0fL v 1500 1500 
    

4=14=3 sGkm]S;g/L pBf]u >]0fL s 3000 3000 
    

4=14=4 sGkm]S;g/L pBf]u >]0fL v 2000 2000 
    

4=14=5 lj:s'6 pBf]u >]0fL s 3500 3500 
    

4=14=6 lj:s'6 pBf]u >]0fL v 2500 2500 
    

4=14=7 bfndf]6 pBf]u 1200 1200 
    

4=15 l/sl08;g pBf]u   
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cf=j= 2074÷075 sf] 
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4=15=1 kmnfd s[lif cf}hf/ pBf]u   
    

4=15=2 sfuh, Knfli6s l/sl08;g pBf]u   
    

5 phf{d'ns pBf]u   
    

5=1 xfO8«f]kfj/ ;DaGwL kf6{pTkfbg s   
    

5=2 jfof]Uof; pBf]u 5500 5500 
    

5=3 ;f}o{zlQm pTkfbg pBf]u 4500 4500 
    

5=4 dd{t ;+ef/ kf6{ljqmL   
    

6 s[lif tyf aghGo pBf]u   
    

6=1 ; ldn÷KnfOp8 pBf]u 3000 3000 
    

6=2 sf7 ljqmL l8kf] 2500 2500 
    

6=3 sf7sf]kmlg{r/ pBf]u÷zf]?d 2000 2000 
    

6=4 sf7sf]kmlg{r/ zf]?d, 1500 1500 
    

6=5 a]tafF;sf]pBf]u÷JofDaf]zf]?d 1000 1000 
    

7 vlgh pBf]u   
    

7=1 s+lqm6 pBf]u   
    

7==1=1 s+lqm6 Ans 1500 1500 
    

7=1=2 ;]g]6/L pBf]u tyf Joj;fo 1500 1500 
    

7=1=3 qm];/ pBf]u 15000 15000 
    

8 ko{6g pBf]u   
    

8=1 xf]6n nh P08 /]i6'/]06   
    

8=1=1 kf6L{Kofn]; 5000 5000 
    

8=1=2 xf]6n nh P08 /]i6'/]06 3000 3000 
    

8=1=3 xf]6n P08 nh >]0fL s 2500 2500 
    

8=1=4 xf]6n P08 nh >]0fL v 1500 1500 
    

8=1=5 xf]6n P08 /]i6'/]06 >]0fL s 2000 2000 
    

8=1=6 xf]6n P08 /]i6'/]06 >]0fL v 1500 1500 
    

8=1=7 bf]x/L ;fFem 3000 3000 
    

8=1=8 kmf:6km'6 tyf Sofkm] 1000 1000 
    

8=1=9 /]i6'/]06 1500 1500 
    

8=1=10 xf]6n, ef]hgfno 2000 2000 
    

8=2 ldi7fg÷Sof6l/Ë k;n 1000 1000 
    

8=2=1 ldi7fg÷Sof6l/Ë k;n 3500 3500 
    

8=2=2 ldi7fg k;n >]0fL s 2000 2000 
    

8=2=3 ldi7fg k;n >]0fL v 1000 1000 
    

8=2=4 Sof6l/Ë 3500 3500 
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8=2=5 lrof tyf slkm k;n 500 500 
     

8=3 6]06 xfp;    
    

8=3=1 ljh'nL 8]sf]/]zg÷j}08 afhf ;lxtsf]6]06 xfp; 3000 3000 
    

8=3=2 ljh'nL 8]sf]/]zg ;lxtsf]6]06 xfp; 2700 2700 
    

8=3=3 ljh'nL 8]sf]/]zg /lxtsf]6]06 xfp; 2500 2500 
     

8=3=4 6]08 xfp; 1000  1000 
     

9 ;]jf pBf]u    
     

9=1 5fkfvfgf    
    

9==1=1 ckm;]6 k|]; 2000 2000 
     

9=1=2 l:s|g lk|G6 1000  1000 
     

9=1=3 n]6/ lk|G6    
     

9=2 l;g]df xn    
     

9=2=1 l;g]df xn 1200  1200 
    

9=2=2 lkmNd l8l:6«Jo'6;{ 1000 1000 
    

9=3 sn/Nofj ;]jf   
    

9=3=1 sn/Nofa ;]jf 2000 2000 
    

9=3=2 lel8of]ldlS;ª 1000 1000 
    

9=3=2 kmf]6f]:6'l8of];]jf 1000 1000 
     

11 ;+rf/ ;]jf    
    

11=1 6]lnkmf]g, df]afO{n ;]jf k|bfos sDkgLnfO{   
    

11=2 l6=eL= rofgn k|zf;/0f ;]jf 8500 8500 
    

11=4 Pkm=Pd= k|;f/0f ;]jf 4000 4000 
    

11=5 k|qklqsf k|sfzg ;]jf 2500 2500 
    

11=2 SDo'lgs]zg ;]jf   
    

11=2=1 6'/ P08 6«feN; ;]jf 2000 2000 
    

11=2=2 kmf]6f]skL÷kL=;L= cf]= ;fOa/ Sofkm] ;]jf 1200 1200 
    

11=2=3 s'l/o/ ;]jfsf] d'Vo sfof{no 2000 2000 
    

11=2=4 s'l/o/ ;]jfsf]zfvf sfof{no 1200 1200 
    

12 ljQLo ;]jf   
    

12=1 jfl0fHo a}+s d'Vo sfof{no 50000 50000 
    

12=2 jfl0fHo a}+s k|lt zfvf sfof{no 25000 25000 
    

12=3 ljsf; a}+s d'Vo sfof{no 40000 40000 
    

12=4 ljsf; a}+sk|lt zfvf sfof{no 20000 20000 
    

12=5 kmfOgfG; sDkgL d'Vo sfof{no 20000 20000 
    

12=6 kmfOgfG; sDkgL k|lt zfvf sfof{no 15000 15000 
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12=7 n3'ljQ sDkgLx? 5500 5500 
    

12=8 ljdf sDkgLx? 12000 12000 
    

12=9 /]ld6fG; tyf dgL PS;r]Gh/ 2500 2500 
    

12=10 ljQLo ;xsf/L ;+:yf 1500 1500 
    

13 :jf:Yo ;]jf   
    

13=1 :jf:Yo ;]jf Joj;fo   
    

13=1=1 u}x|;xsf/L c:kftn 5500 5500 
    

13=1=2 gl;{Ëxf]d 700 700 
    

13=1=3 Pd=cf/=cfO=, l;=l6=:Sofg, cN6«f;fp08 lSnlgs 3500 3500 
    

13=1=4 kf]nL lSnlgs   
    

13=1=5 Kofyf]nf]hL -lbzf, lk;fa, /ut, hfFh_ lSnlgs 1500 1500 
    

13=1=6 cSo'kGr/, lkmlhof]y]/fkL, :jf:Yo lSnlgs 1500 1500 
    

13=1=7 PS;/]lSnlgs 1500 1500 
    

13=1=8 rZdf k;n >]0fL s 1500 1500 
    

14 lzIff ;]jf   
    

14=1 lghL lzIffno   
    

14=1=1 SofDk;÷pRr dfWolds ljBfno 3500 3500 
    

14=1=2 dfWolds ljBfno 3000 3000 
    

14=1=3 lgDg dfWolds ljBfno 2500 2500 
    

14=1=4 k|fyflds ljBfno÷k'j{k|fyflds ljBfno 1000 1000 
    

14=1=5 5fq÷5fqfjf; 1000 1000 
    

14=1=6 dG6]Zj/L tyf lzz':ofx/ s]Gb| 2000 2000 
    

14=2 OlG:6Ro'6, tflnd tyf cg';Gwfg s]Gb|   
    

14=2=1 kf]nL 6]lSgsn OlG:6Ro'6, k|lzIf0f ;d]t 3500 3500 
    

14=2=2 gl;{Ë, l;P=Pd=/ Pr=P= k|lzIf0f ;d]t 3500 3500 
    

14=2=3 Ph's]zgn sG;N6]G;L ;]jf 2500 2500 
    

14=2=4 sDKo'6/÷On]S6«f]lgs tflnd s]Gb| 2500 2500 
    

14=2=5 ;jf/L rfns tflnd s]Gb| 2500 2500 
    

14=2=6 efiff lzIff OlG:Ro'6, sf]lrË ;]G6/ 1200 1200 
    

14=3=1 cGt{/fli6o ;+:yf -Joj;los s/f]Aff/ ug]{ 5500 5500 
    

14=3=2 /fli6o ;+:yf 3500 3500 
    

15 dd[t tyf ;+ef/ ;]jf   
    

15=1 af]8L ljn8;{;]S;g tkm{   
    

15=1=1 gofFaf]8L agfpg]>]0fL s 4000 4000 
    

15=1=2 gofFaf]8L agfpg]>]0fL v 3500 3500 
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15=1=3 af]8L dd{t ug]{ 2500 2500 
    

15=2 n]y ;]S;g tkm{   
    

15=2=1 n]y ;]S;g >]0fL s 3000 3000 
    

15=2=1 n]y ;]S;g >]0fL v 2000 2000 
    

15=2=3 n]y ;]S;g >]0fL u 1500 1500 
    

15=3 6fo/ ;]S;g tkm{   
    

15=3=1 6fo/ l8n/ zf]?d 3500 3500 
    

15=3=2 6fo/ l/;f]lnË >]0fL s 3500 3500 
    

15=3=3 6fo/ l/;f]lnË >]0fL v 2500 2500 
    

15=3=4 6fo/ kGr/ dd{t 1000 1000 
    

15=4 OlGhg dd{t ;]S;g tkm{   
    

15=4=1 OlGhg dd{t >]0fL s 3000 3000 
    

15=4=2 OlGhg dd{t >]0fL v 2000 2000 
    

15=4=3 OlGhg dd{t >]0fL u 1500 1500 
    

15=5 kf]lG6Ë÷8]lG6Ë÷a]lN8u ;]S;g tkm{   
    

15=5=1 k]lG6Ë÷8]lG6Ë÷a]lN8u ;]jf 1000 1000 
     

15=5=2 8]lG6Ë 1000  1000 
     

15=5=3 k]lG6Ë 1000  1000 
    

15=6=1 kDk ;]S;g dd{t >]0fL s 1700 1700 
    

15=6=2 kDk ;]S;g dd{t >]0fL v 1200 1200 
    

15=7 Jof6«L÷On]lS6«s ;]S;g tkm{   
    

15=7=1 Jof6«L÷On]lS6«s ;]S;g >]0fL s 1200 1200 
    

15=7=2 Jof6«L÷On]lS6«s ;]S;g >]0fL v 1000 1000 
    

15=8 jfl;Ë ;]G;g tkm{>]0fL s   
    

15=8=1 jfl;Ë ;]S;g >]0fL s 1000 1000 
    

15=8=2 jfl;Ë ;]S;g >]0fL v 1000 1000 
    

15=9 l/S;f, ;fOlsn   
    

15=9=1 l/S;f ;fOlsn ljqmL k;n 2000 2000 
    

15=9=2 l/S;f, ;fOlsn dd{t tyf kf6{; ljqmL k;n 1200 1200 
    

15=10 c6f];DaGwL cgo ;]jf   
    

15=10=1 df]6/ ;fOsn dd{t 1200 1200 
    

15=10=2 sdfgl k§f dd{t 1200 1200 
    

15=10=3 /]l8o6/ dd{t 1200 1200 
    

15=10=4 l;6 d]lsu tyf lu|l;+u ;]jf 1200 1200 
    

15=10=5 x]8 dd{t ;]S;g 1200 1200 
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15=11 cGo dd{t ;]jf   
    

15=11=1 l6=eL=8]s,lkm|h,sDKo'6/, dd{t k;n   
    

15=11=2 df]afOn dd{t k;n 1200 1200 
    

15=11=3 /]l8of], 38L dd{t k;n 1200 1200 
    

15=11=4 cGo dd{t k;n 700 700 
    

16=12 x]leOSo'jd]G6 tyf sjf8{k;n   
    

16=12=1 x]leOSo'jd]G6 v/Lb÷ljqmL >]0fL s 6500 6500 
    

16=12=2 x]leOSo'jd]G6 v/Lb÷ljqmL >]0fL v 4500 4500 
    

16=12=3 cGo sjf8{vl/b ljqmL 3500 3500 
    

17 cGo ;]jf   
    

17=1=2 j}b]lzs /f]hsf/ k/fdz{;]jf zfvf sfof{no   
    

17=1=3 ;]jf k/d{z bftf{ 2000 2000 
    

17=1=4 >lds ;]jf k/fdz{bftf 1800 1800 
    

17=1=5 ;fdfg ;lxt >lds ;]jf k/fd{z ;]jf   
    

16=4 ;]qm]6l/on ;]jf 1200 1200 
    

16=6 8«fOlSnlgs, ;}n'g tyf Jo'l6kfn{/   
    

16=7=1 Jo'l6 kfn{/ ;]jf Jo'l6lzog tlnd ;lxtsf] 1800 1800 
    

16=7=1 Jo'l6 kfn{/ ;]jf 1200 1200 
    

16=7=1 sflnu9 ;lxtsf];}n'g ;]jf 1200 1200 
    

16=7=1 ;}n'g @ l;6 ;Ddsf];}n'g ;]jf 1000 1000 
    

16=7=1 8«fOlSnlgs ;]jf 1200 1200 
    

16=7 ;fO{g af]8{cf6{Joj;fo   
    

16=1=1 l8lh6n cf6{Joj;fo 1800 1800 
    

16=1=2 cGo cf6{Joj;fo 700 700 
    

16=8 kz'awzfnf   
    

16=1=1 kz'awzfnf 1800 1800 
    

16=1=2 kz'sf]5fnf ;+sng tyf ljqmL s]Gb| 1500 1500 
    

16=9 df5f, df;'ljqmL k;n   
    

16=9=2 df5f, df;'dWo]slDtdf # j6f ;]jf Ps}7fpFdf ePsf] 2500 2500 
    

16=9=3 df5f, df;'dWo]slDtdf @ j6f ;]jf Ps}7fpFdf ePsf] 1800 1800 
    

16=9=4 s'g}Ps k|sf/sf]df;'ljqmL k;n 1200 1200 
    

16=9=5 tfhf df5f, l;b|f ljqmL k;n 1200 1200 
    

16=9=6 c08f ljqmL k;n 1800 1800 
    

16=11=1 :g's/ tyf k'n b'j}ePsf] 2500 2500 
    

16=11=2 :g's/ 2000 2000 
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16=11=3 k'n xfp; 1200 1200 
    

16=14 ef8f k;n, lsrg ;fdfu|L   
    

16=14=1 ef8f tyf lsrt ;fdfu|L yf]s k;n 2500 2500 
    

14=14=2 ef8f tyf lsrg ;fdfu|L k;n 1800 1800 
    

16=14=3 5;fwf/0f ef8f v'b|f k;n 1200 1200 
    

16=1=2 v]nf}gf k;n 1200 1200 
    

16=1=3 kmf]6f]km|]d k;n 1200 1200 
    

16=14 l;nfO{d]l;g dd{t tyf l;nfO{k;n   
    

16=1=4=1 l;nfO{k;n >]0fL s 1800 1800 
    

16+=14=2 l;nfO{k;n >]0fL v 1200 1200 
    

16=14=3 l;nfO{d]l;g dd{t k;n 1200 1200 
    

16=14=4 a'l6sf Nofj|6f]/L 1200 1200 
    

17=18=1 km]G;L tyf sk8f k;n 800 800 
    

17=18=2 ls/fgf lj;ftf Pj+ef8f k;n 700 700 
    

17=19 dfly pNn]v gePsf pBf]ux?sf] xsdf   
    

17=19=1 7'nf pBf]u 12000 12000 
    

17=19=2 demf}nf pBf]u 6500 6500 
    

17=19=3 ;fgf pBf]u 3500 3500 
    

17=20=1 l8:6«LJo'6;{÷yf]s k;n 3500 3500 
    

17=20=2 v'b|f k;n >]0fL s 1500 1500 
    

1720=3 v'b|f k;n >]0fL v 1200 1200 
    

17=20=4 ;]jf k|bfos cGo Joj;fo   

 


